22T HSBSH dhel ey
H 14 4 0|24 dMHRestES 13-14 ) 042211
Q=S 13 FOIM 1R QCHs ROHOIA ALK T 18 FOIA ZCH/CHRIALE/Hr2| A 91 S0

St P CHA| LIEFLICE JIK[DH Q8H2.82 13 F0|A 18 H2Z B2 HOj7Hs o)
ofL|D 1 F7hof o4 B3t FGL0| O|OjTILE RCHe OfF| o9k MXHS D S Yo,
Mo| 0 +2 92/ 970 AN Y HO|X| HECHR 1422—Q 07| A 2328 MAH: C}2
QCHE LotD QUCHD oD Q=G B CHE RCIYSTN 2 CHE RCH0|0F oh=k? 9f? o[|
QCH= MAE AR JCED). 14 3 DRXIHof A 0= 07| WMLEXE SIS B2 T}
M(L5:1)0f I CHA| 23 21 ATE 0|0fZick Thel Q3222 14-17 HO|M 22 0[07| S st

AN 2s2 1 98, 148s 13 ga e dM=Ct

A. O] =—CtA] &17]
1. 0 2|2t 2 E(example)
o MAEC| &S Nd=> CtE SIS MM = GO
o E/@E(13:15)=> O} 10:45 ("QIXI=" 0|2}7| EChH= "QIRFE". MAtDto| XH&. I X|Gt,
ol27F otz 2. Q. o2l AHE2 {EA CHEZL?)

2. M AY: M2 AtEotat
o T/ EHS B2 A

2 XPECE 3X| ZSHCH13:16
o MKFO| E(13:35)=>M 2.

X )
1 E0E E0 RS €% dds S9f o2 MAtgls =l

= -

o OfC|(OFHX]); 7t= ZA(Of=). Of=2| CHE =>4, Zl2|, 4 H
o No one comes to the Father, if not through me(el pn 81" éuod)=>5% 7§o| & Z:
OFHX|(O{C|--=HX|) A2[1 of=(Z--HMX]). Ol 27t ge/4zste
OFHH X|(St="E)0i| CH3H Ofo7|. = O|F EtSwOf Ciot HHELE 22 O|s5tH
=2t HA HERS Ofsf £0f A= StLtEO| O =7t 2SHEH 1 Sh=H 17Hof| Ci ot
JEO| RL0jof
e 1 St= U(works)O|2H R 14:12-13)?

2. O =2 2|

o T2[9] F(14:17)=> Of|=2| &. M0] Tlz2|e| S &X =
ACHO+=E 2Z27| IjF). Q 18 UiF 7[5uoM LM 5 o

o O US WZILIA 2H(14:26)
o RAS(ZH): o2 2/
o A7) ol L/LS Z[AHZ (remembering=>practice)

o OFHX|=0f|5==%2| (14:20). 21 F0[2t 2|7} St=Hut StLt7t &= & Ef. Q. 0|
CHE S /7t 2= OfEA ®#SH=71?

Mo
Of

|_l
fo
rot
T
ojo
|_l

41-3 2 JHA0A RO| 8i5l= FE. 0]7|M ot M2/HK(2-3; 23)7

2. O=5 B& A7 Ol=L0 § 2 €5 SCHR 1412). OfH 2[0[0j|Af?



